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Corrections:

To obtain a correct answer among the choices, notice:

12.WRONG ANSWER with p = 44-x; answer OK for p = (45 - x)

17.Wrong Answer for q =  (300 - p^2)/60. Answers OK for q = (30000 - p^2)/60

21 Wrong  Answer for f(1) = 100, multiply by 100 every year.  f(3) = 10^6.  Answer
OK with  f(1) = 10 .

Complete solutions soon!

Best regards,
Jeff E. Lewis

 Tuesday, March 3, 2009 9:03:25 AM CST

Preview http://www2.math.uic.edu/~lewis/math165/samples/2009testtwosampl...

1 of 1 3/3/2009 9:15 AM


